FORM 1A

#### COLLECTION SERVICE RATES

Rate Adjustment 3.60%

#### SINGLE FAMILY DWELLING COLLECTION SERVICE in the MRWMD. Customers are Serviced One Day per Week

SOLID WASTE 1ST CONTAINER	MONTHLY RATE
CAN (32 GAL)	\$30.10
20 GAL CART	\$25.26
35 GAL CART	\$30.70
64 GAL CART	\$48.11
96 GAL CART	\$60.16

SOLID WASTE ADDITIONAL CONTAINER	MONTHLY RATE
CAN (32 GAL)	\$24.06
20 GAL CART	\$20.20
35 GAL CART	\$24.54
64 GAL CART	\$38.49
96 GAL CART	\$48.11

Can refers to customer owned 32 gallon container

Above rates include Solid Waste container(s) plus one 64 or 96 gallon Recycling and one 64 or 96 gallon Green Waste cart

MSW, Recycle, Green Waste Extra Pick-Up Service	Rate on Service Day	Un-containerized Material Surcharge per Gallon	Un-containerized Material Surcharge (by cart capacity)	Rate On Non- Service Day
CAN (32 GAL)	\$9.03	\$0.60	\$19.20	\$22.58
20 GAL CART	\$7.58	\$0.60	\$12.00	\$18.95
35 GAL CART	\$9.21	\$0.60	\$21.00	\$23.03
64 GAL CART	\$14.43	\$0.60	\$38.40	\$36.08
96 GAL CART	\$18.05	\$0.60	\$57.60	\$45.12

RECYCLING

ADDITIONAL CONTAINER MONTHLY RATE CAN (32 GAL) 35 GAL CART \$15.03 \$15.32 64 GAL CART 96 GAL CART \$24.05 \$30.09

GREEN WASTE

O.L.L. 117.10.1	
ADDITIONAL CONTAINER	MONTHLY RATE
CAN (32 GAL)	\$15.03
35 GAL CART	\$15.32
64 GAL CART	\$24.05
96 GAL CART	\$30.09

Contamination: Greater than 10%	Rate	Recycling and Green Waste
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$25.00	Warning Tag plus charge

	MONTHLY RATE	
<b>Backyard Service</b>	\$23.03	1 cart each, MSW, Recycle, Green Waste Cart
<b>Backyard Service</b>	\$7.69	per cart if less than 3 carts or for each additional if more than 3 carts
Difficult to Service	150%	of Monthly Rate

Ancillary Services	Rate	Description
Cart Exchange	\$85.79	each, in excess of 1 per calendar year
Cart Replacement (lost or stolen)	\$85.79	one cart per material type at no charge per calendar year
Excess On-Call Collection Capacity	\$60.21	per yard greater than 5 yards, for the included on-call collection
More than One On-Call Collection	\$60.21	per yard, for more than one on-call collection per 12 month period
<b>Un-containerized Material Surcharge</b>	\$0.60	per gallon, per calendar year, 1st occurrence is no charge, 2nd and subsequent occurrences are charged
Return for Inaccessible Containers	\$60.21	per occurrence if more than 2 times per calendar year
Composting Bin Delivery	\$120.41	per trip
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded

FORM 1B

#### COLLECTION SERVICE RATES

## Rate Adjustment 1.76% SINGLE FAMILY DWELLING COLLECTION SERVICE in the SVSWA. Customers are Serviced One Day per Week

SOLID WASTE	MONTHLY RATE	SOLID WASTE	MONTHLY RATE
1ST CONTAINER	KAIE	ADDITIONAL CONTAINER	
CAN (32 GAL)	\$30.61	CAN (32 GAL)	\$24.49
20 GAL CART	\$25.68	20 GAL CART	\$20.55
35 GAL CART	\$31.22	35 GAL CART	\$24.96
64 GAL CART	\$48.96	64 GAL CART	\$39.16
96 GAL CART	\$61.20	96 GAL CART	\$48.96

Can refers to customer owned 32 gallon container

Above rates include Solid Waste container(s) plus one 64 or 96 gallon Recycling and one 64 or 96 gallon Green Waste cart

MSW, Recycle, Green Waste Extra Pick-Up Service	Rate on Service Day	Un-containerized Material Surcharge per Gallon	Un-containerized Material Surcharge (by cart capacity)	Rate On Non- Service Day
CAN (32 GAL)	\$9.18	\$0.62	\$19.84	\$22.96
20 GAL CART	\$7.70	\$0.62	\$12.40	\$19.26
35 GAL CART	\$9.37	\$0.62	\$21.70	\$23.42
64 GAL CART	\$14.69	\$0.62	\$39.68	\$36.72
96 GAL CART	\$18.36	\$0.62	\$59.52	\$45.90

RECYCLING	MONTHLY	GREEN WASTE	MONTHLY
ADDITIONAL CONTAINER	RATE	ADDITIONAL CONTAINER	RATE
CAN (32 GAL)	\$15.29	CAN (32 GAL)	\$15.29
35 GAL CART	\$15.60	35 GAL CART	\$15.60
64 GAL CART	\$24.48	64 GAL CART	\$24.48
96 GAL CART	\$30.60	96 GAL CART	\$30.60

Contamination: Greater than 10%	Rate	Recycling and Green Waste
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$25.00	Warning Tag plus charge

	MONTHLY RATE	
<b>Backyard Service</b>	\$23.43	1 cart each, MSW, Recycle, Green Waste Cart
<b>Backyard Service</b>	\$7.82	per cart if less than 3 carts or for each additional if more than 3 carts
Difficult to Service	150%	of Monthly Rate

Ancillary Services	Rate	Description
Cart Exchange	\$87.29	each, in excess of 1 per calendar year
Cart Replacement (lost or stolen)	\$87.29	one cart per material type at no charge per calendar year
Excess On-Call Collection Capacity	\$61.26	per yard greater than 5 yards, for the included on-call collection
More than One On-Call Collection	\$61.26	per yard, for more than one on-call collection per calendar year
<b>Un-containerized Material Surcharge</b>	\$0.62	per gallon, per calendar year, 1st occurrence is no charge, 2nd and subsequent occurrences are charged
Return for Inaccessible Containers	\$61.26	per occurrence if more than 2 times per calendar year
Composting Bin Delivery	\$122.50	per trip
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.5%	30 days from date of invoice. \$5.00 minimum not compounded

#### FORM 2A

#### COLLECTION SERVICE RATES

## Rate Adjustment 3.60% MFD & COMMERCIAL CART RATES in the MRWMD

	MONTHLY RATE BASED ON SERVICES PER WEEK					
Rate per Month, 1x week	1	2	3	4	5	6
\$26.48	\$26.48	\$52.96	\$79.44	\$105.92	\$132.40	\$158.88
\$32.49	\$32.49	\$64.98	\$97.47	\$129.96	\$162.45	\$194.94
\$50.57	\$50.57	\$101.14	\$151.71	\$202.28	\$252.85	\$303.42
\$62.61	\$62.61	\$125.22	\$187.83	\$250.44	\$313.05	\$375.66
\$31.91	\$31.91	\$63.82	\$95.73	\$127.64	\$159.55	\$191.46
	\$26.48 \$32.49 \$50.57 \$62.61	\$26.48 \$26.48 \$32.49 \$32.49 \$50.57 \$50.57 \$62.61 \$62.61	Rate per Month, 1x week         1         2           \$26.48         \$26.48         \$52.96           \$32.49         \$64.98         \$64.98           \$50.57         \$50.57         \$101.14           \$62.61         \$62.61         \$125.22	Rate per Month, 1x week         1         2         3           \$26.48         \$26.48         \$52.96         \$79.44           \$32.49         \$64.98         \$97.47           \$50.57         \$50.57         \$101.14         \$151.71           \$62.61         \$62.61         \$125.22         \$187.83	Rate per Month, 1x week         1         2         3         4           \$26.48         \$26.48         \$52.96         \$79.44         \$105.92           \$32.49         \$32.49         \$64.98         \$97.47         \$129.96           \$50.57         \$50.57         \$101.14         \$151.71         \$202.28           \$62.61         \$62.61         \$125.22         \$187.83         \$250.44	Rate per Month, 1x week         1         2         3         4         5           \$26.48         \$26.48         \$52.96         \$79.44         \$105.92         \$132.40           \$32.49         \$64.98         \$97.47         \$129.96         \$162.45           \$50.57         \$50.57         \$101.14         \$151.71         \$202.28         \$252.85           \$62.61         \$125.22         \$187.83         \$250.44         \$313.05

SOLID WASTE			MONTH	LY RATE BASED ON SER	VICES PER WEEK		
ADDITIONAL CONTAINER	Rate per Month, 1x week	1	2	3	4	5	6
20 GAL CART	\$21.19	\$21.19	\$42.38	\$63.57	\$84.76	\$105.95	\$127.14
35 GAL CART	\$25.99	\$25.99	\$51.98	\$77.97	\$103.96	\$129.95	\$155.94
64 GAL CART	\$40.46	\$40.46	\$80.92	\$121.38	\$161.84	\$202.30	\$242.76
96 GAL CART	\$50.08	\$50.08	\$100.16	\$150.24	\$200.32	\$250.40	\$300.48
CAN (32 GAL)	\$25.54	\$25.54	\$51.08	\$76.62	\$102.16	\$127.70	\$153.24

MSW, Recycle, Green Waste	Rate on Service Day	Un-containerized	Rate On Non-Service
Extra Pick-Up Service	Rate on Service Day	Material Surcharge	Day
20 GAL CART	\$7.94	\$12.00	\$19.86
35 GAL CART	\$9.75	\$21.00	\$24.37
64 GAL CART	\$15.17	\$38.40	\$37.93
96 GAL CART	\$18.78	\$57.60	\$46.96
CAN (32 GAL)	\$9.57	\$19.20	\$23.93

 $MFD/commercial\ cart/can\ customers\ are\ eligible\ for\ 1\ cart\ up\ to\ 96\ gallons\ for\ recyclables\ at\ no\ charge\ for\ each\ solid\ waste\ cart\ or\ can.$ 

RECYCLING ADDITIONAL CART	Rate per Month	GREEN WASTE SUBSCRIPTION CART	Rate per Month
35 GAL CART	\$16.25	35 GAL CART	N/A
64 GAL CART	\$25.29	64 GAL CART	\$25.29
96 GAL CART	\$31.31	96 GAL CART	\$31.31
		•	

ı	Contamination: Greater than 10%	Rate	Recycling and Green Waste
ſ	1st Occurrence	\$0.00	Warning Tag
ſ	2nd and Subsequent Occurrences	\$50.00	Warning Tag plus charge

İ	MONTHLY RATE	
Roll Out Service:	\$7.69	per cart
Difficult to Service Customers;	150%	of Monthly Rate

Ancillary Services	Rate	Description
Cleaning Fee		per cart per occurrence
Cart Exchange	\$85.88	each, in excess of 1 per calendar year
Cart Replacement (Lost or Stolen)	\$85.88	one cart per material type at no charge per calendar year
Excess On-Call Capacity	\$60.27	per yard, Multifamily customers only
Subscription On-Call Capacity	\$60.27	per yard
Un-containerized Material Surcharge	\$0.60	per gallon
 Return for Inaccessible Containers	\$60.27	per calendar year. 2 at no charge
Lock Fee Greater of:	\$30.13	per month per <u>enclosure</u>
or	\$12.06	per month per container
Reactivation Fee	\$30.13	after County approved service suspension
Composting Bin Delivery	\$120.51	per trip
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded

#### FORM 2B

#### COLLECTION SERVICE RATES

## Rate Adjustment 1.76 MFD & COMMERCIAL CART RATES in the SVSWA

SOLID WASTE			MONTH	LY RATE BASED ON SER	RVICES PER WEEK		
1ST CONTAINER	Rate per Month, 1x week	1	2	3	4	5	6
20 GAL CART	\$26.95	\$26.95	\$53.90	\$80.85	\$107.80	\$134.75	\$161.70
35 GAL CART	\$33.06	\$33.06	\$66.12	\$99.18	\$132.24	\$165.30	\$198.36
64 GAL CART	\$51.44	\$51.44	\$102.88	\$154.32	\$205.76	\$257.20	\$308.64
96 GAL CART	\$63.70	\$63.70	\$127.40	\$191.10	\$254.80	\$318.50	\$382.20
CAN (32 GAL)	\$32.47	\$32.47	\$64.94	\$97.41	\$129.88	\$162.35	\$194.82

Can refers to customer owned 32 gallon container

SOLID WASTE			MONTH	Y RATE BASED ON SER	VICES PER WEEK		
ADDITIONAL CONTAINER	Rate per Month, 1x week	1	2	3	4	5	6
20 GAL CART	\$21.54	\$21.54	\$43.08	\$64.62	\$86.16	\$107.70	\$129.24
35 GAL CART	\$26.44	\$26.44	\$52.88	\$79.32	\$105.76	\$132.20	\$158.64
64 GAL CART	\$41.15	\$41.15	\$82.30	\$123.45	\$164.60	\$205.75	\$246.90
96 GAL CART	\$50.95	\$50.95	\$101.90	\$152.85	\$203.80	\$254.75	\$305.70
CAN (32 GAL)	\$25.99	\$25.99	\$51.98	\$77.97	\$103.96	\$129.95	\$155.94

MSW, Recycle, Green Waste	Rate on Service Day	Un-containerized	Rate On Non-Service
Extra Pick-Up Service	Rate on Service Day	Material Surcharge	Day
20 GAL CART	\$8.09	\$11.80	\$20.21
35 GAL CART	\$9.92	\$20.65	\$24.80
64 GAL CART	\$15.43	\$37.76	\$38.58
96 GAL CART	\$19.11	\$56.64	\$47.78
CAN (32 GAL)	\$9.74	\$18.88	\$24.35

 $MFD/commercial\ cart/can\ customers\ eligible\ for\ 1\ cart\ up\ to\ 96\ gallons\ for\ recyclables\ at\ no\ charge\ for\ each\ solid\ was te\ cart\ or\ can.$ 

RECYCLING ADDITIONAL CART	MONTHLY RATE
35 GAL CART	\$16.54
64 GAL CART	\$25.71
96 GAL CART	\$31.86

GREEN WASTE SUBSCRIPTION CART 35 GAL CART 64 GAL CART 96 GAL CART

MONTHLY RATE
N/A
\$25.71
\$31.86

Contamination: Greater than 10%	Rate	Recycling and Green Waste
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$50.00	Warning Tag plus charge

Ī	MONTHLY RATE	1
Roll Out Service:	\$7.82	per cart
Difficult to Service Customers:	150%	of Monthly Rate

	Ancillary Services	Rate	Description
	Cleaning Fee	\$87.36	per cart per occurrence
	Cart Exchange	\$82.86	each, in excess of 1 per calendar year
	Cart Replacement (Lost or Stolen)	\$82.86	one cart per material type at no charge per calendar year
	Excess On-Call Capacity	\$58.15	per yard, Multifamily customers only
	Subscription On-Call Capacity	\$58.15	per yard
Un-containerized Material Surcharge		\$0.59	per gallon
	Return for Inaccessible Containers	\$58.15	per calendar year. 2 at no charge
ı	Lock Fee Greater of:	\$29.07	per month per enclosure
	or	\$11.64	per month per <u>container</u>
	Composting Bin Delivery	\$116.28	per trip
	Reactivation Fee	\$29.07	after County approved service suspension
Non-Sufficient Funds		\$25.00	Check returned unpaid by financial institution
	Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded

#### FORM 2C

#### **COLLECTION SERVICE RATES**

Rate Adjustment	3.60%
-----------------	-------

#### MFD & COMMERCIAL FOODWASTE CART RATES in the MRWMD

FOOD WASTE		MONTHLY RATE BASED ON SERVICES PER WEEK		ES PER WEEK	
1ST CONTAINER Rate per Month, 1x week		1	2	3	
	64 GAL CART	\$50.57	\$50.57	\$101.14	\$151.71

 FOOD WASTE
 MONTHLY RATE BASED ON SERVICES PER WEEK

 ADDITIONAL CONTAINER
 Rate per Month, 1x week
 1
 2
 3

 64 GAL CART
 \$40.46
 \$40.46
 \$80.92
 \$121.38

Food Waste Extra Pick-	Rate on Service Day	Un-containerized	Rate On Non-
Up Service		Material Surcharge	Service Day
64 GAL CART	\$15.17	\$38.40	\$40.46

Contamination: Greater than 10%	Rate	Food Waste Contamination
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$50.00	Warning Tag plus charge

Rate per Month
Roll Out Service: \$7.69 per cart
Difficult to Service Customers; 150% of Monthly Rate

Ancillary Services	Rate	Description
Cleaning Fee	\$85.88	per cart per occurrence
Cart Exchange	\$85.88	each, in excess of 1 per calendar year
Cart Replacement (Lost or Stolen)	\$85.88	one cart per material type at no charge per calendar year
Excess On-Call Capacity	\$60.27	per yard, Multifamily customers only
Subscription On-Call Capacity	\$60.27	per yard
Un-containerized Material Surcharge	\$0.60	per gallon
Return for Inaccessible Containers	\$60.27	per calendar year. 2 at no charge
Lock Fee Greater of:	\$30.13	per month per <u>enclosure</u>
or	\$12.06	per month per <u>container</u>
Composting Bin Delivery	\$120.51	per trip
Reactivation Fee	\$30.13	after County approved service suspension
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.5%	30 days from date of invoice. \$5.00 minimum not compo

#### FORM 2C

#### **COLLECTION SERVICE RATES**

Rate Adjustment	1.76%
Kate Adjustment	1./6%

#### MFD & COMMERCIAL FOODWASTE CART RATES in the SVSWA

FOOD WASTE		MONTHLY RATE BASED ON SERVICES PER WEEK		CES PER WEEK	
<b>1ST CONTAIN</b>	ER	Rate per Month, 1x week	k 1 2 3		3
	64 GAL CART	\$51.44	\$51.44	\$102.88	\$154.32

FOOD WASTE	OOD WASTE MONTHLY RATE BASED ON SERVICES PER		CES PER WEEK	
ADDITIONAL CONTAINER	Rate per Month, 1x week	1	2	3
64 GAL CART	\$41.15	\$41.15	\$82.30	\$123.45

Food Waste Extra Pick-	Rate on Service Day	Un-containerized	Rate On Non-	
Up Service	Rate on Service Day	Material Surcharge	Service Day	
64 GAL CART	\$15.43	\$37.76	\$41.15	

Contamination: Greater than 10%	Rate	Food Waste Contamination
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$50.00	Warning Tag plus charge

Roll Out Service: \$7.82 per cart

Difficult to Service Customers; 150% of Monthly Rate

Ancillary Services	Rate	Description		
Cleaning Fee	\$87.36	per cart per occurrence		
Cart Exchange	\$82.86	each, in excess of 1 per calendar year		
Cart Replacement (Lost or Stolen)	\$82.86	one cart per material type at no charge per calendar year		
Excess On-Call Capacity	\$58.15	per yard, Multifamily customers only		
Subscription On-Call Capacity	\$58.15	per yard		
Un-containerized Material Surcharge	\$0.59	per gallon		
Return for Inaccessible Containers	\$58.15	per calendar year. 2 at no charge		
Lock Fee Greater of:	\$29.07	per month per enclosure		
or	\$11.64	per month per container		
Composting Bin Delivery	\$116.28	per trip		
Reactivation Fee	\$29.07	after County approved service suspension		
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution		
Late Payment Fee (unpaid invoices)	1.5%	30 days from date of invoice. \$5.00 minimum not compound		

#### FORM 3A

#### **COLLECTION SERVICE RATES**

Rate Adjustment 3.60%

MFD & COMMERCIAL BIN RATES in the MRWMD

#### SOLID WASTE

NON-COMPACTED BI	D BINS MONTHLY RATE BASED ON SERVICES PER WEEK								
CUBIC YARDS	Base Rate for Calculations	1	1 2 3 4 5 6						
1	\$118.64	\$118.64	\$237.28	\$355.92	\$474.56	\$593.20	\$711.84		
1.5	\$105.01	\$157.52	\$315.03	\$472.55	\$630.06	\$787.58	\$945.09		
2	\$91.35	\$182.70	\$365.40	\$548.10	\$730.80	\$913.50	\$1,096.20		
3	\$91.35	\$274.05	\$548.10	\$822.15	\$1,096.20	\$1,370.25	\$1,644.30		
4	\$87.80	\$351.20	\$702.40	\$1,053.60	\$1,404.80	\$1,756.00	\$2,107.20		
6	\$84.24	\$505.44	\$1,010.88	\$1,516.32	\$2,021.76	\$2,527.20	\$3,032.64		
8	\$80.68	\$645.44	\$1,290.88	\$1,936.32	\$2,581.76	\$3,227.20	\$3,872.64		

MSW & Recycle Extra	MSW & Recycle Extra Pick-
Pick-Up Service	Up Service
On routed day	Non routed day
\$29.66	\$59.32
\$39.38	\$78.76
\$45.68	\$91.35
\$68.51	\$137.03
\$87.80	\$175.60
\$126.36	\$252.72
\$161.36	\$322.72

MPACTED BINS		MONTHLY RATE BASED ON SERVICES PER WEEK					
CUBIC YARDS	Base Rate for Calculations	1	2	3	4	5	6
1	\$237.31	\$237.31	\$474.62	\$711.93	\$949.24	\$1,186.55	\$1,423.86
2	\$182.73	\$365.46	\$730.92	\$1,096.38	\$1,461.84	\$1,827.30	\$2,192.76
3	\$182.73	\$548.19	\$1,096.38	\$1,644.57	\$2,192.76	\$2,740.95	\$3,289.14
4	\$175.61	\$702.44	\$1,404.88	\$2,107.32	\$2,809.76	\$3,512.20	\$4,214.64
5	\$172.03	\$860.15	\$1,720.30	\$2,580.45	\$3,440.60	\$4,300.75	\$5,160.90
6	\$168.48	\$1,010.88	\$2,021.76	\$3,032.64	\$4,043.52	\$5,054.40	\$6,065.28
7	\$164.92	\$1,154.44	\$2,308.88	\$3,463.32	\$4,617.76	\$5,772.20	\$6,926.64
8	\$161.37	\$1,290.96	\$2,581.92	\$3,872.88	\$5,163.84	\$6,454.80	\$7,745.76

MSW & Recycle Extra	MSW & Recycle Extra Pick-
Pick-Up Service	Up Service
On routed day	Non routed day
\$59.33	\$118.66
\$91.37	\$182.73
\$137.05	\$274.10
\$175.61	\$351.22
\$215.04	\$430.08
\$252.72	\$505.44
\$288.61	\$577.22
\$322.74	\$645.48

Service Rate for multiple Bins shall be calculated by multiplying the Container size by the number of Containers. Compacted rate is 2 times the uncompacted rate.

MFD and Commercial bin customers are eligible for 1/2 of solid waste capacity for recycling bin or cart service at no charge.

Example, (1) 4 cubic yard uncompacted solid waste bin is eligible for one 2 cubic yard recyclables bin at no charge.

Compacted solid waste counts as 2 times uncompacted volume for recycling calculation.

Example, (1) 4 cubic yard compacted solid waste bin is eligible for one 4 cubic yard recyclables bin at no charge.

#### ADDITIONAL RECYCLING - BINS

\$47.93	Per yard for greater than no charge calculation above						
Contamination: Great	er than 10%	Rate	Food Waste Contamination				
15	t Occurrence	\$0.00	Warning Tag				
2nd and Subsequent	Occurrences	\$100.00	Warning Tag plus charge				

1-25 ft	26-49 ft	50-75 ft	76-100 ft	101-125 ft	126+ ft
\$29.96	\$59.90	\$89.87	\$119.85	\$149.79	\$179.74

Ancillary Services	Rate	Description		
Cleaning Fee	\$134.81	per bin per occurrence		
Bin Exchange	\$89.87	each, in excess of 1 per calendar year		
Bin Replacement (Lost or Stolen	\$539.23	one bin per material type at no charge per calendar year		
Excess On-Call Capacity	\$112.35	per yard, Multifamily customers only		
Subscription On-Call Capacity	\$112.35	per yard		
Un-containerized Material Surcharge	\$119.85	per gallon		
Return for Inaccessible Containers	\$59.90	per calendar year. 2 at no charge		
Lock Fee Greater of	\$29.96	per month per <u>enclosure</u>		
or	\$12.00	per month per container		
Composting Bin Delivery	\$119.85	per trip		
Reactivation Fee	\$29.96	after County approved service suspension		
Non-Sufficient Fund	\$25.00	Check returned unpaid by financial institution		
Late Payment Fee (unpaid invoices	1.5%	30 days from date of invoice. \$5.00 minimum not compounde		

#### FORM 3B

#### COLLECTION SERVICE RATES

### SOLID WASTE

## Rate Adjustment 1.76% MFD & COMMERCIAL BIN RATES in the SVSWA

NON-COMPACTED	BINS	MONTHLY RATE BASED ON SERVICES PER WEEK					
CUBIC YARDS	Base Rate for Calculations	1	2	3	4	5	6
1	\$177.71	\$177.71	\$355.42	\$533.13	\$710.84	\$888.55	\$1,066.26
1.5	\$159.94	\$239.91	\$479.82	\$719.73	\$959.64	\$1,199.55	\$1,439.46
2	\$142.17	\$284.34	\$568.68	\$853.02	\$1,137.36	\$1,421.70	\$1,706.04
3	\$136.84	\$410.52	\$821.04	\$1,231.56	\$1,642.08	\$2,052.60	\$2,463.12
4	\$131.51	\$526.04	\$1,052.08	\$1,578.12	\$2,104.16	\$2,630.20	\$3,156.24
6	\$126.18	\$757.08	\$1,514.16	\$2,271.24	\$3,028.32	\$3,785.40	\$4,542.48
8	\$120.84	\$966.72	\$1,933.44	\$2,900.16	\$3,866.88	\$4,833.60	\$5,800.32

8	\$120.84	\$966.72	\$1,933.44	\$2,900.16	\$3,866.88	\$4,833.60	\$5,800.32	
IPACTED BINS		MONTHLY RATE BASED ON SERVICES PER WEEK						
UBIC YARDS	Base Rate for Calculations	1	2	3	4	5	6	
1	\$355.43	\$ 355.43	\$ 710.86	\$ 1,066.29	\$ 1,421.72	\$ 1,777.15	\$ 2,132.58	
2	\$284.33	\$ 568.66	\$ 1,137.32	\$ 1,705.98	\$ 2,274.64	\$ 2,843.30	\$ 3,411.96	
3	\$273.66	\$ 820.98	\$ 1,641.96	\$ 2,462.94	\$ 3,283.92	\$ 4,104.90	\$ 4,925.88	
4	\$263.01	\$ 1,052.04	\$ 2,104.08	\$ 3,156.12	\$ 4,208.16	\$ 5,260.20	\$ 6,312.24	
5	\$257.68	\$ 1,288.40	\$ 2,576.80	\$ 3,865.20	\$ 5,153.60	\$ 6,442.00	\$ 7,730.40	
6	\$252.36	\$ 1,514.16	\$ 3,028.32	\$ 4,542.48	\$ 6,056.64	\$ 7,570.80	\$ 9,084.96	
7	\$247.01	\$ 1,729.07	\$ 3,458.14	\$ 5,187.21	\$ 6,916.28	\$ 8,645.35	\$ 10,374.42	
8	\$241.66	\$ 1,933.28	\$ 3,866.56	\$ 5,799.84	\$ 7,733.12	\$ 9,666.40	\$ 11,599.68	

MSW & Recycle Extra Pick-Up Service	MSW & Recycle Extra Pick-Up Service
On routed day	Non routed day
\$88.86	\$177.72
\$142.17	\$284.33
\$205.25	\$410.49
\$263.01	\$526.02
\$322.10	\$644.20
\$378.54	\$757.08
\$432.27	\$864.54
\$483.32	\$966.64

MSW & Recycle Extra Pick-Up Service On routed day

\$44.43 \$59.98

\$71.09

\$102.63

\$131.51 \$189.27

MSW & Recycle Extra Pick-Up Service

Non routed day

\$119.96

\$142.17

\$205.26

\$378.54

Service Rate for multiple Bins shall be calculated by multiplying the Container size by the number of Containers. Compacted rate is 2 times the uncompacted rate.

MFD and Commercial bin customers are eligible for 1/2 of solid waste capacity for recycling bin or cart service at no charge.

Example, (1) 4 cubic yard uncompacted solid waste bin is eligible for one 2 cubic yard recyclables bin at no charge.

Compacted solid waste counts as 2 times uncompacted volume for recycling calculation.

Example, (1) 4 cubic yard compacted solid waste bin is eligible for one 4 cubic yard recyclables bin at no charge.

#### ADDITIONAL RECYCLING - BINS

\$49.23 Per yard for greater than no charge calculation above					
Contamin	ation: Greater than 10%	Rate	Recycle Contamination		
1st Occurrence		\$0.00	Warning Tag		
2nd and	2nd and Subsequent Occurrences		Warning Tag, plus charge		

1-25 ft	26-49 ft	50-75 ft	76-100 ft	101-125 ft	126+ ft
\$30.78	\$61.56	\$92.36	\$123.13	\$153.92	\$184.69

Rate	Description
\$138.53	per bin per occurrence
\$92.36	each, in excess of 1 per calendar year
\$554.09	one bin per material type at no charge per calendar year
\$115.43	per yard, Multifamily customers only
\$115.43	per yard
\$123.13	per yard
\$61.56	per calendar year. 2 at no charge
\$30.78	per month per enclosure
\$12.31	per month per container
\$123.13	per trip
\$30.78	after County approved service suspension
\$25.00	Check returned unpaid by financial institution
1.5%	30 days from date of invoice. \$5.00 minimum not compounded
	\$138.53 \$92.36 \$554.09 \$115.43 \$115.43 \$123.13 \$61.56 \$30.78 \$123.13 \$30.78 \$25.00

#### FORM 3C

#### **COLLECTION SERVICE RATES**

## Rate Adjustment 3.60% MFD & COMMERCIAL FOODWASTE BIN RATES in the MRWMD

#### FOOD WASTE

NON-COMPACTED BINS		MONTHLY RATE BASED ON SERVICES PER WE		CES PER WEEK
CUBIC YARDS	Base Rate for Calculations	1 2 3		
2	\$91.35	\$182.70	\$365.40	\$548.10

		MONTHLY RATE BASED ON SERVICES PER WEEK			
CUBIC YARDS	Base Rate for Calculations	1 2 3		3	
2	\$182.73	\$365.46	\$730.92	\$1,096.38	

Extra Pick Up	Special Pick Up
On routed day	Non routed day
\$45.68	\$91.35

Extra Pick Up	Special Pick Up
On routed day	Non routed day
\$91.37	\$182.73

Service Rate for multiple Bins shall be calculated by multiplying the Container size by the number of Containers. Compacted rate is 2 times the uncompacted rate.

Contamination: Greater than 10%	Rate	Food Waste Contamination
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$100.00	Warning Tag plus charge

1-25 ft	26-49 ft	50-75 ft	76-100 ft	101-125 ft	126+ ft
\$29.96	\$59.90	\$89.87	\$119.85	\$149.79	\$179.74

Ancillary Services	Rate	Description
Cleaning Fee	\$134.81	per bin per occurrence
Bin Exchange	\$89.87	each, in excess of 1 per calendar year
Bin Replacement (Lost or Stolen)	\$539.23	one bin per material type at no charge per calendar year
Excess On-Call Capacity	\$112.35	per yard, Multifamily customers only
Subscription On-Call Capacity	\$112.35	per yard
Un-containerized Material Surcharge	\$119.85	per yard
Return for Inaccessible Containers	\$59.90	per calendar year. 2 at no charge
Lock Fee Greater of:	\$29.96	per month per enclosure
or	\$12.00	per month per <u>container</u>
Composting Bin Delivery	\$119.85	per trip
Reactivation Fee	\$29.96	after County approved service suspension
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.5%	30 days from date of invoice. \$5.00 minimum not compounded

#### FORM 3C

#### COLLECTION SERVICE RATES

	Rate Adjustment	1.76%	
MFD & COMM	IERCIAL FOODWASTE BIN RATES	S in the SV	SWA

FOOD WASTE				
NON-COMPACTED BINS		MONTHLY RATE BASED ON SERVICES PER WEEK		
CUBIC YARDS Base Rate for Calculations		1	2	3
2	\$142.17	\$284.34	\$568.68	\$853.02

COMPACTED BINS		MONTHLY RA	TE BASED ON SERVI	ICES PER WEEK
CUBIC YARDS	Base Rate for Calculations	1	2	3
2	\$284.33	\$568.66	\$1 137 32	\$1.705.98

Extra Pick Up	Special Pick Up
On routed day	Non routed day
\$71.09	\$142.17

Extra Pick Up	Special Pick Up
On routed day	Non routed day
\$142.17	\$284.33

Service Rate for multiple Bins shall be calculated by multiplying the Container size by the number of Containers. Compacted rate is 2 times the uncompacted rate.

Contamination: Greater than 10%	Rate	Food Waste Contamination
1st Occurrence	\$0.00	Warning Tag
2nd and Subsequent Occurrences	\$100.00	Warning Tag plus charge

1-25 ft	26-49 ft	50-75 ft	76-100 ft	101-125 ft	126+ ft
\$30.78	\$61.56	\$92.36	\$123.13	\$153.92	\$184.69

Ancillary Services	Rate	Description	
Cleaning Fee	\$138.53	per bin per occurrence	
Bin Exchange	\$92.36	each, in excess of 1 per calendar year	
Bin Replacement (Lost or Stolen)	\$554.09	one bin per material type at no charge per calendar year	
Excess On-Call Capacity	\$115.43	per yard, Multifamily customers only	
Subscription On-Call Capacity	\$115.43	per yard	
<b>Un-containerized Material Surcharge</b>	\$123.13	per yard	
Return for Inaccessible Containers	\$61.56	per calendar year. 2 at no charge	
Lock Fee Greater of:	\$30.78	per month per <u>enclosure</u>	
or	\$12.31	per month per container	
Composting Bin Delivery	\$123.13	per trip	
Reactivation Fee	\$30.78	after County approved service suspension	
Non-Sufficient Funds \$25.00		Check returned unpaid by financial institution	
Late Payment Fee (unpaid invoices)	1.5%	30 days from date of invoice. \$5.00 minimum not compounded	

#### FORM 4A

#### **COLLECTION SERVICE RATES**

Rate Adjustment 3.60%

#### MFD & COMMERCIAL ROLL-OFF RATES in the MRWMD

#### DROP BOX/ROLLOFF SERVICE - Any material

#### \* NON-COMPACTED BOXES

CUBIC YARDS	PER PULL
up to 6	\$305.49
7-10	\$332.07
11-20	\$398.46
21-30	\$491.44
31-40	\$597.69
41-50	\$705.16

#### \* COMPACTED BOXES

COMITACTED BOXES		
CUBIC YARDS	PER PULL	
up to 6	\$381.86	
7-10	\$415.06	
11-15	\$456.57	
16-20	\$498.08	
21-30	\$614.29	
31-40	\$747.13	
41-50	\$879.94	

Compacted boxes refers to customer-owned compactors Provided on a temporary on-call(1) basis

<sup>\*</sup> Note: All Bin, compacted box and non-compacted box per pull service rates include collection rates and franchise fees only; disposal will be based on actual disposal costs plus a 10% franchise fee. The total customer rate will be the pull rate (collection and franchise fee) plus disposal and the disposal franchise fee.

Disposal Site & Material Type	Disposal Charge	Unit of Measure
Marina LF MSW	\$68.89	Per Ton
Marina LF C&D	\$22.22	Per Ton
Marina LF Recycle	\$0.00	Per Ton
Marina LF Green	\$44.44	Per Ton
Marina LF Food	\$60.00	Per Ton
Marina LF Mix Green Food	N/A	Not Available
Marina LF White Goods (w/Freon)	\$22.22	Each
Marina LF Tires	\$222.22	Per Ton
Marina LF Wood	\$44.44	Per Ton
Marina LF Inert - Concrete	\$11.11	Per Ton
Marina LF Inert- Asphalt	\$1.11	Per Ton
Marina LF Inert - Dirt	\$1.11	Per Ton

Ancillary Services	Rate	Description
Relocation	\$119.85	RO Box relocated at customers current site - per occurrence
Dry Run	\$179.74	trip charge, no haul - per occurrence
Stand By	\$239.66	per hour
Stand By	\$1,437.96	per day - 6 hour maximum
Composting Bin Delivery	\$119.85	per trip
Reactivation Fee	\$29.96	after County approved service suspension
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded
<del>-</del>		

#### FORM 4B

#### **COLLECTION SERVICE RATES**

Rate Adjustment 1.76%

#### MFD & COMMERCIAL ROLL-OFF RATES in the SVSWA

### DROP BOX/ROLLOFF SERVICE - Any material \*NON-COMPACTED BOXES

CUBIC YARDS	PER PULL
up to 6	\$300.05
7-10	\$326.16
11-20	\$391.37
21-30	\$482.69
31-40	\$587.05
41-50	\$692.61

#### \*COMPACTED BOXES

CUBIC YARDS	PER PULL
up to 6	\$375.07
7-10	\$407.67
11-15	\$448.45
16-20	\$489.21
21-30	\$603.36
31-40	\$733.83
41-50	\$864.28

Compacted boxes refers to customer-owned compactors Provided on a temporary on-call(1) basis

<sup>\*</sup> Note: All, compacted box and non-compacted box per pull service rates include collection rates and franchise fees only; disposal will be based on actual disposal costs plus a 10% franchise fee. The total customer rate will be the pull rate (collection and franchise fee) plus disposal and the disposal franchise fee.

Disposal Site & Material Type	Disposal Charge	Unit of Measure
Johnson Canyon LF MSW	\$76.11	Per Ton
Johnson Canyon LF C&D	\$64.44	Per Ton
Johnson Canyon LF Recycle	\$0.00	Per Ton
Johnson Canyon LF Green	\$42.50	Per Ton
Marina LF Food Waste	\$60.00	Per Ton
Johnson Canyon LF Mix Green Food	N/A	Not Available
Johnson Canyon LF White Goods (w/Freon)	\$17.22	Each
Johnson Canyon LF Tires	\$11.11	Each
Johnson Canyon LF Wood	\$40.28	Per Ton
Johnson Canyon LF Inert - Concrete	\$11.11	Per Ton
Johnson Canyon LF Inert- Asphalt	\$1.11	Per Ton
Johnson Canyon LF Inert - Dirt	\$17.78	Per Ton

Ancillary Services	Rate	Description
Relocation	\$123.13	RO Box relocated at customers current site - per occurrence
Dry Run	\$184.69	trip charge, no haul - per occurrence
Stand By	\$246.27	per hour
Stand By	\$1,477.60	per day - 6 hour maximum
Composting Bin Delivery	\$123.13	per trip
Reactivation Fee	\$30.78	after County approved service suspension
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded

#### FORM 5

#### **COLLECTION SERVICE RATES**

Rate Adjustment	2.58%	
TEMPORARY INST	TABIN	

#### \* COMMERCIAL BINS

COMMENCIAL DING		
CUBIC YARDS	PER PULL	
1	\$110.45	
1.5	\$138.86	
2	\$167.27	
3	\$250.89	
4	\$320.55	
6	\$459.83	
8	\$585.14	

<sup>\*</sup> One time use or special events only Not to be used for regular or permanent customers

Ancillary Services	Rate	ays, not counting the delivery and removal days.  Description
Relocation	\$118.36	RO Box relocated at customers current site - per occurrence
Dry Run	\$177.55	trip charge, no haul - per occurrence
Demurrage Per Day	\$11.85	temporary rental, after five (5) days, not including delivery and removal days
Stand By	\$236.73	per hour
Stand By	\$1,420.30	per day - 6 hour maximum
Composting Bin Delivery	\$118.36	per trip
Reactivation Fee	\$29.58	after County approved service suspension
Non-Sufficient Funds	\$25.00	Check returned unpaid by financial institution
Late Payment Fee (unpaid invoices)	1.50%	30 days from date of invoice. \$5.00 minimum not compounded

### FORM 6

### **MAXIMUM RATES**

# Rate Adjustment 2.58% EMERGENCY SERVICE RATES

#### **EMPLOYEES**

Labor Position	Hourly Rate
Driver	\$182.38
Supervisor	\$212.77
Helper	\$121.58

#### **EQUIPMENT**

Equipment Type	Make & Model	<b>Hourly Rate</b>
Side Loader	Autocar	\$182.38
Commercial Front End Loader	Autocar	\$212.77
Rear End Loader	Autocar	\$182.38
Roll Off	Autocar	\$182.38
Flat Bed Truck	Autocar	\$91.18

Collection Vehicle Travel Charge per Mile	\$8.52
Collection vehicle Travel Charge per Mile	\$8.5 <b>Z</b>